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Directions (1-5): Read the given information carefully and answer the following questions.

& T JTAFRT T 419 T 92 7 Feferfea w1t & 397 2

Eight women are sitting around a circular table. All of them are facing inside. Each of them likes different
brand of handbag. D sits third to the right of the one who likes Caprese. C likes Prada and sits second to
the left of the one who likes H&M. D does not like H&M. D is not an immediate neighbour of C. There are
only two persons siting between D and the one who likes the Baggit. F sits second to the left of G. The one
who likes H&M sits second to the left of E. B is one of the women. There are only two persons sitting
between the persons who like Mango and Lavie. The person who likes the Gucci is not sitting opposite to
the one who likes H&M. The person who likes the ZARA is not an immediate neighbour of the one who
likes the Mango. Only A sits between G and H (when counted left of H).

TS AIZATT Tk FATHRIE AT & AT AT ToT | T T 1T Al AT I7G 8| SAH T AT Hl &9+ Jig F7
S R 21 D, 3R THE F AT A ¥ A0 & A T 97 457 21 C F7 9TET 06T £ 7 97 H&M THE
FA AT % IO F AL S 92 931 g1 D & H&M 792 ! g1 D, C &7 Meean T2t 75l g1 D 3 IRia moe
FLT AT o S el &l AT 9 gl F, G & 10 ¥ AL T 92 921 g| ™o H&M 762 g 98 E & 910 & oY
T O A4 31 B WIRETE # F T &) W AT AT T F AT AR ¥ W e 47 711 4% ) 78 A
Ry T T 2 7% H&M-GHE F ATH 3 B Aat 427 21 77 St B ST TR 8, T we w7 A
fAeheqw 7=t 981 21 G3ii® H ¥ 19 aa A 9818 (S| H & ar & {1 Srar @)

Q1. Who among the following likes Baggit handbag?

Raferfea & & g IR gea 19s 22

(@G

(b) H

(© A BILINGUAL

Ok

BANK

(e) None of these \Z7H & &I Tal

Q2. Who among the following sits third to the right of C?

freferfeT & & #19 C % 3 ¥ o s\ W S 2 PRIME

(@)D

(b H TEST PACK
(C) G IBPS RRB, SBI, IBPS PO | Clerk & Others
(d) A

(e) None of these\ZH  Fls q@- _12'ﬂu+ TOTAL TESTS
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Q3. The one who sits opposite to A likes which of the following brand?

g Tk AT A % Ao<ia 9o71 g, Maferea #§ & ®i9 97 o 9969% FdT 82
(a) Gucci\‘l@or

(b) H&M

(c) ZARA \ ST

(d) Prada \ 9=t

(e) None of these \ =78 & Fls qg!

Q4. F likes which of the following brand?
F &t feforfea § & 19 97 77 798 872
(a) Gucci \ ﬂ‘gDF

(b) Mango \ ®T

(c) H&M

(d) Lavie \ ==&t

(e) None of these \ T & &I 75l

Q5. Which of the following statement is true about B?
fAforfea & & 19 9T F99 B & 91¥ § 97 52
(a) B likes ZARA handbag

B &I ST g7 THE &

(b) C sits opposite to B

C,BF Aua derg

(c) E sits immediate right of B

E,B¥ 3% qd d3T &

(d) B sits third to the left of the one who sits second to the right of C

B I =T<h o aT0 & FTEL TITF IL 931 8 51 C o a9 | g0 41 ¥ 9271 §
(e) None of these

TAH | AL ARl

Directions (6-8): In this question, relationship between different elements is shown in the statements.
The statements are followed by conclusions. Study the conclusions based on the given statement and
select the appropriate answer.

TH TT H, w1 § AT qeat & 1= gaer ' F90Ar T g1 FwAAT F are Fewd 7w g R I w5
ATTY U< ARt T 7eqa= i< A =T ITAL F7 AT FL|

Q6. Statements: \ FT
M>=N>Q,Q<R,S=R
Conclusions: \ Aty
I.LM>R

ILS>Q
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(a) If only conclusion I follows.

T2 Faer Moy [ a0 F:dT o

(b) If only conclusion II follows.

77T e Aoy 1 AaoT Fear g

(c) If either conclusion I or II follows.

7t 77 a7 AT 13T 11 a0 F:3ar 8

(d) If neither conclusion I nor II follows.

I 7 a7 Fowe [ 7 g1 e 11 a0 F3ar

(e) If both conclusions I and II follow.

T TET AR 13T 11 STa0 F3d 5

Q7. Statements \ FI:
F=A>B=C2D,E=D

Conclusions: \ fAty:

LF>E

ILE<F

(a) If only conclusion I follows.

7% e Ao [ ST aoT Fear g

(b) If only conclusion II follows.

77T et Ao 11 e Far g

(c) If either conclusion I or II follows.
TfE =77 a1 Ao 137 11 S8 F3aT &
(d) If neither conclusion I nor II follows.
T 7 a1 Fewd [ 7 37 Aoy 1 sigaeor wear @
(e) If both conclusions I and II follow.

Tfe AT w1 377 11 T80 #3d &

Q8. Statements \ FI:
M<N<QS=2R<Q

Conclusions: \ fAewy

ILR>N

ILN<S

(a) If only conclusion I follows.

T2 Faer Moy | a0 FdT

(b) If only conclusion II follows.

T el Moy 11 SATE0 F:am g

(c) If either conclusion I or II follows.
7t 77 a7 A 13T 11 a0 F:3ar 8
(d) If neither conclusion I nor II follows.
7z 7 a7 Aed [ 7 &t ey 11 S8 #7371 8
(e) If both conclusions I and II follow.

A 2t o 1 9 1 ST 7 3
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Q9. In a class Atul’s ranks is 21st from the top. Anshi’s rank is 14th from the bottom. If Abhay is ranked
exactly between Atul and Anshi and Only five persons are between Atul and Anshi. Find the maximum
number of students in the class.

U FHET | Qe 1 79 o9 & 2197 g1 37f 7 v = & 1437 81 TR STqT 7 T AqA e 37¢ft & I+
= | g TAT T AT 79T F = Fhaer qi= A<k & AT FeAT H SIAT 0l ATIHAH H&IT AT o7

(a) 39

(b) 38

(c) 40

(d) 41

(e) 42

Q10. In a class of 40 students Rohan rank is 21 from the bottom and Arun is 2 rank below Rohan, then
what is the rank of Arun from the top?

40 ZTAT T UF FAT | T T €A A1 & 21 T 3T TE07 UST & 2 T A0 g, AT T T &7 /T I F47
?

(a) 21

(b) 22

(¢) 25

(d) 24

(e) 20

Directions (11-15): Study the information and answer the given questions:

e ST T 7eqa 7 A< 30 70 9ot o 397 &

Seven persons were born on seven different year i.e 1949, 1956, 1964, 1972, 1981, 1987 and 1996, on
the same month and same date. (Base year is considered as 2021).

C’s age is a perfect square. The difference of age between G and C is a perfect cube. The addition of the age
of G and A is a prime number. D is older than E. The addition of the age of A and F is equal to age of E. The
difference of age between B and F is less than 10 year.

AT SARRAT T STH AT FAT-3TT a9 A7q 1949, 1956, 1964, 1972, 1981, 1987 3T 1996 H AHIT Held
S HHTH I 1 gl AT (ST a9 20271 HIET 1T 2)!

C 3T 3 U T a9 g1 G 3T C o &= A T (q< Uk U1 o gl G 3T A T 3 FT TN T AATST §&4T gl D,
E § F=T 5| A 31T F 3h[ 3 T AN E T 311 % a7 gl B 3T F &7 & 7 i< 10 a9 § 57 g

Q11. Who among the following was born in 19817?
= 7 & [oheeht S+ 1981 # gar?

(@F

(b) E

(c)G

(d) A

(e) None of these \ a9 FS T-|%°r
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Q12. How many persons were born between B and E? TEST SERIES

B 3 E % ®ex fohar SATRAT &7 STvH gal? BILINGUAL

(a) Three\T= VIDEO SOLUTIONS
(b) Two\&T
(c) One\U=
(d) Four\=1<

IBPS CLERK 2022
(e) No one \®Ts A&l PRELIMS + MAINS

Q13. How many persons are older than F
F a3 fry =10 22 90+ Total Tests | eBooks
(a) One\TH

(b) Two\aT

(c) More than five\Ji= & 3Tfer®

(d) Three\&=

(e) None of these\Z7H o TS ol

Q14. Who among the following is the oldest person?
e o & qad as7 ARE F1727?

(@F

(b) D

(B

(d)E

(e) None of these\Z7H, & &IE -'-@3[

Q15. E was born in which.of the following years?
E =1 5teq f7 /& foher o & gan?

(a) 1987

(b) 1949

(c) 1964

(d) 1956

(e) None of these \T7H H s A&l

Directions (16-18): Study the information and answer the following questions:

fRer STTahTET T oreqa= 3 37 fRetertaa aen & 397 3

Point P is 10m north of point Q. Point S is 10m north of point R. Point U is 20m south of point V. Point Q is
15m west of point R. Point U is 8m east of point T. Point S is 25m north of point T.

ffgp,FgQa 10 s v Fg s, Mg RF 10 st H g1 g U, Mg v 208t eferor 9§ 81 g Q Mg R+
159t af2rw @ g1 g U, &g T 8¢t @ & g1 f9g S, g T 257 ST # gl
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Q16. What is the direction of point S with respect to point Q?
g Q& ar=aw ¥ fag S #T Rem #7327

(a) South-West \ feror-afary

(b) North-West \3TZ-af2rq

(c) South \&feror

(d)North-East \ST%-98

(e) None of these\ZaH o TS ol

Q17. What is the shortest distance between point R and point V?
&g R &% {63 V & wex =gaw T fohast 82

(a) 10m

(b) 15m

(c) V89m

(d) 2v/3m

(e) None of these\ZaH & &TE A5l

Q18. What is the direction of point P with respect to point U?
g U & dw=9 # g P T feam =1 &2

(a) South-West\aferor-afary

(b) North-West\3aZ-af2rq

(c) South\&feror

(d)North-East\3T-94

(e) None of these \T7H H s A&l

Q19. How many pairs of letters are there in the word INOCULATION’, each of which have as many
letters between them (both forward and backward directions) in the word as they have between then in
the English alphabet?

9153 'INOCULATION' & &1e1<i & U¥ foraer v\ &, ™9 & s & = orsx # (A0 ofie fiey 41 faarmsit #)
IA9 Bf TAT 8 Forae Ik = SISit T § 82

(a) Five \um=

(b) More than six\Zg & &

(c) Six\=E

(d) Four\=1<

(e) Two\&T
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Q20. If the digits of the number 783219 are arranged in ascending order within the number, how many
digits will remain in the same position as they were in the number before the application of the
operation?

Tf H=aT 783219 F T T HEAT o HIAT Ael #7 H Faredqd wam Srar g, av Fraer o= o7 Rofa & @
STE o HIHAT & A g | T8 o2

(a) None \®Ts gt

(b) One\U=

(c) Two \&r

(d) Three\&=

(e) More than three\d = & e

Directions (21-24): Study the following information carefully and answer the questions given below:

e ST #7 eamgE s sreqa w2 i A= 3w 70 w3 % 397 &

Nine persons are living on different floors of a building having nine floors. The ground floor is numbered
as 1, the floor just above it is numbered 2 and so on till topmost floor is numbered as 9. There are as
many persons between O and Q as between O and L. There are four floors between floor of N and R. P
does not live on even numbered floor. Same number of persons live above and below S. Two persons live
between N and S. Q live above L. Only one person lives between P and K. P lives above M and N.

T SAT<R AT T T T TG & (S0 Tl 92 T8 5| qqa hl §eqT 1, THH 3 39T 6 Il §eaT 2 g Y
THT avg offd aef T T 9 81 0 3f¥ Q % == Ia g =4f<h & forad O 3 L & 1= g1 N 3fi¥ R o af & o=
IR T 8, P OH T&AT a7 I I Tl TgaTl gl S o FUT A A1+ qH1 96T § =AT<h W@d &l NAT SF A= v

FT<h T8d gl Q, L % HU¥ T&aT gl hddl U Ffwh P oii¥ K & &= Tgal gl P, M N -HI< L& 2|

Q21. Who among the following lives on topmost floor?
Rrerferfr # & Fr ofref e a2 TR 27

(AN

(b) R

()P

(dQ

(e) None of these \Z7H & FIs H%B[

Q22. The number of persons live between Q and S is same as the number of persons live between
and ?

Q AT S & 1= Tg AT AKAT %0l HEA #q< & o1 T AT SATRAT 0l HEAT o THT 872
(@A) N,R

() QK

(oS, L

(dM,0

(e) None of these \Eﬁﬁ?ﬁﬁﬂﬁ
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Q23. Who among the following person lives immediate below Q’s floor?
feferfeaa § & 9 Q % a« & &t A1+ Tgar 82

(@)L

(b) O

(N

(d)S

(e) None of these\ZaH o #TE ol

Q24. Which of the following statement is true about K? TEST SERIES
e T FT T FaT K an § aea 22 BILINGUAL
(a) Klives on an even numbered floor VIDEO SOLUTIONS
K U 99 H&IT q 9 Tgar g

(b) Not more than two persons live between K and O
K 0 3 e 21 3 e s v & IBPS PO 2022

(c) Klives immediate below P’s floor PRELIMS + MAINS
K, P O % 31 A= gl g

(d) K lives on odd numbered floor
K U o §ea7 a9 ue Tgar g

(e) Both (b) and (d)

T (b) 3T (d)

90+ Total Tests | eBooks

Directions (25-27): Study the following information carefully and answer the given questions.

et ST #T e ga® Tedd= H7 Y 70 TT 74 % 3L &)

There are seven members in a family. In this family there are only two are married couple and three
generations. A who is'unmarried, and F are siblings. B's husband has two children. D is father of F. G is
niece of A, who is not a male member. B is mother of C, who is unmarried. E is not married to F or G.
There are four females in this family.

U IR § 97 9867 81 30 Ian | wad af fearza T i o« fifzai 81 A sfaarfea 8, A sfiT F ars-
Jg gl B % 9 &t af =19 g1 D, F &7 AT g1 G, A T 919 g, ST ¥ 9&%7 gl gl B, C T AQT g, ST
sfaartgd g1 E, F a7 G & f[Aarfed 7ai gl =0 IREw § 91 7fgar €

Q25. If L is married to A, then how L is related to E?
It L, A% faartea g, ar L, E & o T "eterd g2
(a) Mother-in-law\#T®

(b) Father-in-law\#HX

(c) Daughter-in-law\gteT-ga-At

(d) Son-in-law \HF-ZF-AT1

(e) None of these\ZaH & &Ts A&l
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Q26. Who among the following is grandfather of C?
fAforfea & & 19 C 7 UiewreT 82

(@)D

(b) E

(c) F
(d) G

(e) None of these \Z7# & &I Aal

Q27.How A is related to C?

A, C ¥ Tohe TohTE eafeerd 82

(a) Mother\HTdT

(b) Aunt\3TE

(c) Uncle\3=e

(d) Can’t be determined\ T A&T FoFAT ST FhaT
(e) None of these\ZaH & &TE A5l

Directions (28-31): Study the information and answer the following questions:

STRTT 7 27eqg= 3 307 At s & 597 &

There are eight employees in a company and all of them are working at eight different designation of a
company viz. CMD, MD, CEO, COO, AGM, AM, SE, JE. All the designations given are to be considered in a
given order (as CMD is considered as Senior-most and JE is considered as the Junior-most).

Q is senior to R but immediate junior to N. M is COO and senior to R. S isssenior to T. More than three
persons are junior to'Q. T is/just senior to O but T is not AM. Not more than one person is working
between S and R. P is junior to R.

UF FOAT § S FHAT B AT o THT U AT % S AT-AT TAl AATT SIuHeT, THey, @, e,
TSTUH, TUH, THE, S 9% w14 #d gl (<0 10 F47 98f = v QU 1w w7 § F= Gy sEr g ((@GHoast i
T FCY JTET ATAT ¢ 3T S5 Al G4 w4 T ATAT )

QRIUFNFEAFA NT A wAg 2l M, frar g sic R afm g1 s, TH alm g1 A F srfdr =afce Q &
FAY T, 0 & fiw avg & afha T, 7w 781 €1 S 3 R ¥ o= U% & orfds =af< F1d 981 #Lar1 81 P, R &
FY Bl

Q28. Who among the following is AM of the company?
Merferfad ® o 9 9T 7 TUH g7

(@0

(b) P

(R

(d)S

(e) None of these \ 3% & s Aal
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Q29. Which of the following statement is true about R?
Ferforfad ® o 19 97 99 RF 9 § 97 7

(a) Risjustseniorto S

RSHIFANS &

(b) Three persons are working between R and O
R 31T O o HeT T ATk H1F Fd 5

(c) Ris AM of the company

R FFIAT T TUA &

(d) Ris not juniorto T

R, TH FAS el &

(e) None of these

T | AL T

Q30. What is the designation of S in the company?
FIAT H S T IS FAT 872

(a) SE\ THE

(b) AGM \ Tsfrue

(c) CEO \ #igat

(d) MD \ THET

(e) None of these \ TAH & FIT A5l

Q31. How many persons are senior to T?
fohae o31=F T & 91T 8?2

(a) One \ U=

(b) Two \ &

(c) Four \ 91X

(d) Three \ 9

(e) More than four \ 9T & S{er®

Directions (32-35): In each question below are given some statements followed by some conclusions.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically follows
from the given statements, disregarding commonly known facts.

T 30 T J3F T § T T AT 39 918 @, (MY 19U T | ST U T HAAT H TF AT 6, T
o I FaATd qAT & {9 St gia gl T et &1 ¢ & e a7 w2 & fu v Aowet § & w9 |97 =Fewd
ATHT & & AT AT Al AagAdT (0 &7 [&T T FHI|T A7 ATleheh &9 F ST HaT g

Q32. Statements:

Only a few Wind are Air.

No Virus is Air.

Only Wind is Vaccine.
Conclusions:

L. All Virus are Wind is a possibility.
IL. All Vaccine is Air is a possibility.
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H:

Fa g o maw €

FIE ATTH TAT LN 2

Fact fae TFfa 8

Ao

L. 7+ft A & & g it /9T g
IL T FoRf1 3 T g T 99737 2
(a) Only I follows

Aol | SITEL0T FLdl &

(b) Both I and II follow

[ 31 11 FIT STTHT0T F3d &

(c) Only II follows

Hae 11 TTHLT FaAT &

(d) None follows

TS ST AT FEAT

(e) None of these

Q33. Statements:

Only a few Party is Drink.

No Drink are Food.

Some Night are Food
Conclusions:

I. All Night can never be Drink.
IL. All Party are Food is a possibility.
FI:

FA T T 5 2

15 59 g2 et &
TITEEEE T

Ao

L 7+t AT5e F+t B T51 87 9Fd|
IL T ITET o FE I ol HHTAAT 5
(a) Only I follows

HAA | T FLAT &

(b) Both I and II follow

[ 31 11 FIT STTHT0T F7d &

(c) Only II follows

EEE NI SVl v ldl %

(d) Either I or II follows

T AT 14T 11 ATECT FEaAT &

(e) None follows

He AT Al HLdl

@ Bilingual
Special Offer

IBPS 2022
RRB PO
PRELIMS

with Videoa Solutions

55+ TOTAL TESTS
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Q34. Statements:
All Yellow are Brown.
No Brown is Green.
All Brown are Blue.
Conclusions:

I. All Yellow are Green is a possibility.

II. Some Blue are not Green.
FI:

T AT JTIT

T T3 A4 A8l

asft ST =L &

Ao

L. TAT TT F WA S T GATAAT B
.38 5 19 751 8.

(a) Only II follows

Hael 11 LA FIAT 8

(b) Both I and II follow

[ =¥ 11 ST ST 2 &
(c) Only I follows

FAA | T FLAT &

(d) Either I or II follows
T AT 13T I AT F2aT &
(e) None follows

FTS AT Aol HLdl

Q35. Statements:

Only Litchi are Grapes.
Some Mango are Plum.

Only a few Litchi are Mango.
Conclusions:

I. Some Plum are Litchis

II. Some Mango are Grapes

LR L
FAT AHT S 5
T S W §

FAA TG, AT AH 5
Ao

L. T w9 AT 2|

LT ¥ T 2

(a) Only I follows

e | LT FLAT &

(b) Either I or II follows
T AT 13T 1 SATHLT F2aAT &
(c) Both I and II follow

[ 30 11 ST A2 3 &
(d) Only II follows

e [ SITE HLAT &

(e) None follows

HIS AT Al ALl
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Directions (36-40): Study the information and answer the following questions:

ST T LTI F2 A e T 397 2

Eight persons are sitting in a row. Some of them are facing north while some are facing south. D sits fifth
to the right of C, none of them sits at an extreme end. B sits third to the left of A. F sits second to the right
of B. H sits third to the left of F. A sits second to the left of E. A is not an immediate neighbor of D. Neither
A nor B sits at extreme end. G sits third to the right of D. Both the person sitting at extreme ends faces
opposite direction to each other. H sits immediate left of B and both of them are facing opposite direction
to each other. G does not face south direction. Not more than two persons sitting together face same
direction.

TS A U UTh § 95 81 ITH & T SAL [ AT SAeTeh %, feT0 sl A 3+q@ gl D, CF I3 & Tiod I
U g7, 3HH F Fre off fow e uw T2 F3T 81 B, AT 914 | A9 T 9 437 g1 F, B F I 6L T
U F2T g1 H, F & a8 & S| 19 92 937 81 A, E & 913 & AL 19 92 937 21 A, D &1 Aaeaq =& 951 &
T AT A ST T &1 B 3aRH BT 9X 427 21 G, D F I3 & 19 T 9¥ 927 81 9w Y 9 9% 491 AR UF
T % A fRem Y o 3=p@ €1 H, B % 3t a1 927 & S 3 91 Uh-gEe & i fRem i $ie 39 g
G ZFEroT e it A% 37 5! 8| U A7 96 T | T8 Af<h A (G907 Fif ¥ 37T Tl o

Q36. The number of persons sit between C and B is same as the number of persons site between and
?

C 3T B = o8 AR T |&AT ____ T & 19 9 SAThAT sl HEAT F THT 872
(@ H, F

(b) C.G

(c)E,D

(d)F, G

(e) None of these \ 7H & &S Aal

Q37. Who among the following person sits third to the right of H?
fRerferfera § & |t safte H & a0 & 18 #1992 927 22

(@) C

(b) A

() E

(d)D

(e) None of these \ T7H & FI< gl

Q38. Who among the following person sits third to the left of the one who sits second to the right of G?
T & | a1 ATh G & 213 § gAY S 9 96 1<k & a3 | | €A 92 97 57

(@)D

(b) A

(B

(d)C

(e) None of these \ T7H ¥ #IE Agl
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Q39. How many persons sit between E and B?
E 3T B % W fohae =af<h 9% 872

(a) One \ T+

(b) Three \ =

(c) Two \ &T

(d) More than three \ fi & s1fers MAHA PAC K

(e) None of these \ T¥H & FT< 2! Live Class, Video Course,
Test Series, eBooks
Q40. Four of the following five pairs are alike in a certain way so

Bilingual (with eBooks)

form a group, which of the following does not belong to that
group?

e o= 7w & 7 97 uw [ 6% & qum § oo v aug aam € Reefea & g St v e
e & ST T 22

(a)C H

(b)B,A

(c)G,D

() F,E

(e)AH

Directions (41-45): Read the data carefully and answer the questions.

AT T AT | T2 30T T o 3 <

There is total 700 employee in three companies - A, B and C. Total employeein A'is 8% more than that of
in C, while the ratio of total employee in B to that of in A is 2 : 3. The ratio of male employee in A to that of
in Bis 10 : 7. The total female employee in A are 60% more than total femaie employee in B. Total male

employee in C is 423% more than total male employee in B.

T FAEET - A, B 3T C § Fof 700 FHART &1 A H Fof FHATLN C T 4T H 8% ATer ¢, At B § F
FHATL 3T A § T FHAT T AAT 2:3 Z1 A H T2T FHAT T B & 19 10:7 €1 A § T AigAT FHATLL
B © %ol HigdAT FHAT & 60% ATe g Cﬁzﬁrwwﬁaﬁ’rBﬁzﬂwﬁaﬁrﬁﬂg%aﬁ?ﬁ%

Q41. Total male employee in A are what percent more than total female employee in C?
AT T [T FHATN CH FoT AigdT FHATT | fohaa Tiaerd oTfaT 872

(a) 50%

(b) 60%

(c) 55%

(d) 45%

(e) 40%
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Q42. Find average numbers of female employee in A & C?
A T C | AT FHATAT T 36T AT AT hiTor0?

(a) 150

(b) 110

(c) 130

(d) 140

(e) 120

Q43. Find total number of male employees in all three companies?
et AT HFIEIT H 2T FHATAT 00 e H&IT AT HITor7?

(a) 405

(b) 415

(c) 400

(d) 425

(e) 395

Q44. Find the ratio of male employees in B to female employee in A?
B H T&W FHATIAT HT A § FGAT FHAT | STATT AT 0l 19102
(a)6:7

(b)7:9

(c)7:10

(d)7:12

(e)7:8

Q45. Find the difference between total male employees and total female employees in these three
companies?

T A HAAAT H A RO HHAT AL ST e Hig@ATEHHATLAT 6 &A1= L AT sl o102

(a) 130

(b) 120

(c) 110

(d) 180

(e) 160

Directions (46-50): What approximate value should come in place of the question mark (?) in the
following questions?

Rt w1t ® weram=e (=g (2) & T&09 9% AT #1719 497 AT 0

Q46. 24.97% of 1459.98 - ? % of 1120.4 = 29.04
(a) 34
(b) 27
(c) 25
(d) 20
(e) 30
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Q47. V575.99 + 12743.99 — 2.01 =7
(@)6
(b) 7
()9
(d) 4
(e)5

Q48 10.98% of 11.04% of 10999.98 = 7

(a) 121
(b) 130
(c) 137
(d) 133
(e) 127

Q49. 2094 +12.06 x 15,99 +7.02="7
(a) 4

(b) 8

(c) 19

(d) 16

(e) 12

120.03 + 2 0f 24.08 x 3.95 = 7
Q50 8

(a) 36
(b) 28
(c) 32
(d) 42
(e) 22

Directions (51-55): Find the wrong number in the following number series:+

eferied & S99« § o 6T J1d Hhiforu:

Q51. 124, 180, 225, 261, 290, 312, 335
(a) 124 BILINGUAL

(0312
261 BANK
Q52.91, 235,163,199, 181, 190, 187.5 PRIME

91
) 235 TEST PACK
(c) 163 1BPS RRB, SBI, IBPS PO | Clerk & Others

o 190" 1200+ TOTAL TESTS
(e) 199 1200+ TOTAL TESTS
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Q53. 380, 385, 393, 407, 433, 486, 581
(a) 380
(b) 385
(c) 393
(d) 486
(e) 407

Q54. 128, 32, 96, 240, 840, 3780, 20790
(a) 32

(b) 96

(c) 240

(d) 840

(e) 3780

Q55. 665, 630, 606, 591, 581, 580, 580
(a) 606
(b) 665
(c) 581
(d) 630
(e) 591

Q56. The ratio of length of train A to Biis 5 : 4 and speed of train A is 90 km/hr. If train A crosses a pole in
12 seconds and train B crosses train A in 36 seconds while running in same direction, then find time
taken by train B to cross a 400 meters long platform.

T A T FAGTS FT B AT FATS & AAATT 5:4 8 ML o A AT T 90 Fhefi/eier g1 Ff% oF A UF TF &l 12 Hohe |
T FXAT 2 3T o B HAT 39T # I[Ed TU 2 A F7 36 e H TIT FLdAl &, 1.7 BERT 400 HieX & ehin
I ITC FA | o 97 6T ST s o

(a) 10 seconds \ 10 %

(b) 12 seconds \ 12 &

(c) 15 seconds \ 15 @&

(d) 64 seconds \ 64 TFHE

(e) 18 seconds \ 18 &

Q57. The amount invested by P to Q is in the ratio of 2 : 3 and the amount invested by P and R is in the
ratio of 5 : 7 respectively. If the profit earned by P at the end of year is Rs. 76 less than earned by R, then
find the profit earned by Q?

P 3T Q gTeT fAarer st T TfLr 2:3 % 9T § § 9T P ¥ R g0 fAaer it 1€ T0fer swwer: 5:7 & 919 H gl
If T % ofd § P g7 ATSia AT R G STfoid o & 76 €. %W g, AT Q FTT STTod ATH ST shitorar?

(a) Rs. 95\ 95 =.

(b) Rs. 228 \ 228 %,

(c)Rs. 285\ 285 =.

(d) Rs. 380 \ 380 =,

(e)Rs. 114\ 114 =.

17 | www.bankersadda.com www.sscadda.com www.careerpower.in | Adda247 App


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

Q58. The ratio of present age of Rita to Kapil is 3 : 4 age and age of Manish is 5/3 times of Rita’s present
age. After ten years, the ratio of Manish, Rita and Kapil’s age is 15: 11 : 13. Find Rita’s age five years ago ?

AT T TAHTT 3 T FAA ol AAHTT A F AT 3:4 8 37T FATT 07 313 LT 7 Fqq1 S 7 5/3 AT &
T AT TS, FATY, TAT ST w0 il A T TqITT 15:11:13 R T77 T Tgol LaT a0l 0 71T H2?

(a) 6 years \ 6 T

(b) 8 years \ 8 a9

(c) 9 years \ 9 9

(d) 7 years \ 7 a9

(e) 5years \ 5

Q59. A shopkeeper has two quality rice. Rice A is sold at Rs. 40 per kg and Rice B is sold at Rs. 25 per kg.
He mixed both the rice together and sold the mixture at Rs. 36 per kg. Find the ratio of quantity of rice A

to the total mixture?

U TR o ITH &I TR & 919 gl 19 A, 40 %, I 7T § 591 S1a7 ¢ S =94 B, 25 %. uid fhur. &
ST STAT gl S99 &A1 ATl T U q77 WA i ffsqor &7 36 . I BT, o< 597 | /| A #it q14 #+
T FsT07 & AT AT HITora?

(a)11: 4

(b) 4: 11

() 4:15

(d)11:15

(e) None of these \ TAH & &z el

Q60. A man invested a sum of Rs. ‘P’ for two years in scheme A at 20% p.a. on compound interest
annually. The amount received at end of two years from scheme A, reinvested in scheme B for four years
at 25% p.a. on simple interest. If total interest received from scheme B is Rs 1650 more than P, then find
‘P?

T 1<k 7 ‘P’ %. ol LTI T ThiA A § &7 99 % 1T 20% 3T 3% F Tehdleg o1 9% f=aer foram =i A @
N AT 6 AT H ITH (L, ThiA B § =1 a9 & {70 25% ATTUE T & ATLT07 479 9% A9 it T47| I
ThIH B & YTH T o471 P & 1650 w93 3(fer &, AT 'P' A7q Fitoru?

(a) Rs 3550\ 3550 =.

(b) Rs 2750\ 2750 =.

(c) Rs 3450\ 3450 =.

(d)Rs 3750\ 3750 =.

(e) Rs. 3250\ 3250 =.
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Directions (61-65): In the following questions, there are two equations in x and y. You have to solve
both the equations and give answer

fArferfera ot ®, x ofi y & <7 TH <07 g1 SATTRT ST FHRT0T i gof AT g ¥ 3L &A1 &

Q61.
l.2x*-5x-7=0

Il. 2y — 16y + 32 = 0
(@ifx>y\afkx>y
(b)ifx<y\aRx<y
(Qifxzy\afex>y
(d)ifx<sy\afxx<y
(e) if x = y or there is no relation between xand y \ a2 x = y a7 x 3T y % 19 Fls Hae A51 ¢

Q62.
l.2x2—9x+10=0

I.3y*—TFy+4=0
(@) ifx>y\=afkx>y
(b)ifx<y\arx<y
(Qifxzy\akx>y
(d)ifx<sy\afxx<y
(e) ifx = y or there is no relation between x and y \ o2 x = y IT x 3T y F &1 %Iz G 751 &

Q63.
¥+ 11x+24=0

I.4y2+ 13y + 10=0

(@ ifx>y\afxx>y

(b)ifx<y\afex<y

(Qifx=zy\aRx>y

(d)ifx<sy\akx<y

(e) if x =y or there is no relation between x and y

afx x = y AT x A y 3 A AE T AL 2 TEST SERIES

Q64. BILINGUAL
VIDED SOLUTIONS

I.2x2 +13x 4+ 21 =0

nhy*+6vy+9=0

(@)ifx>y\ x>y IBPS CLERK 2022
(b)ifx<y\7zx <y PRELIMS + MAINS
(Qifx=zy\alRx>y

(d)ifx<sy\afrx<y

(e) if x =y or there is no relation between x and y 90+ Total Tests | eBooks

T x = y AT X AT y o oA Hls G 71 &
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Q65.

lL3x*x-2=0

1. 4y — 2y —

2=0

(@)ifx>y\=afxx>y
(b)ifx<y\aRx<y
(ifxzy\afex>y
(d)ifx<sy\akx<y
(e) if x =y or there is no relation between x and y

A x = y AT x AT y o S *ls G99 751 &

Directions (66-70): Table given below shows total number of people visit four different national parks.
Read the following table carefully and answer the questions given below.

= & T qICCrT AT AT TR IATAN § ST AT ATHIT il Td qe&dT &l 290’ | Fafertea arfersr w1 eam=gEs

afeu s = o o aet & s v
MNational Total 04 Of 04 Of male
Park number of children visit
people visit | visit
P 2,400 1084 3094
Q 2,000 504 4004
R 4 500 1504 5004
s 6,000 2004 4504

Note: only male, female and children visit in these four national parks.

TIe: T AT WL IATHT H Ha« T29, Aigell 51 a9 of A ol

Q66. Find the ratio of total number of females visit P and Q together to total number of children visit R
and S together?

P 3T Q ® THATHT ST ATt ATRATAT il Foed HEAT & R 37T S § HATHT o a1t agt il Tf q&AT | Fq91q
ISR Y

(a) 508:375

(b) 513:370

(c) 557:379

(d) 580:349

(e) 528:311

Q67. Find the average no. of male visit S and P?
S 3T P ST ATl T&UT i Sied §&AT AT i 1o
(a) 1670
(b) 1810
(c) 1710
(d) 1720
(e) 2310
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Q68. The total number of females visit S is what percent of the total number of male Q?
S H ST ATAT HIGATSN il Foed T&AT, Q H ST ATl THUT %0l e HEAT T TohadAT T 57
(a) 291.5%

(b) 277.5%

(c) 232.5%

(d) 215.5%

(e) 262.5%

Q69. Find the difference between the total number of children visit P & S together and total number of
females visit Q & R together?

P 3i¥ S ¥ o ST aTer agi &l Tt H&AT 4T Q 3T R § T o aTe(! AIGATAT T Ff FEAT 6 A= HT
Fq< STTq FifoT

(a) 1460

(b) 1955

(c) 1235

(d) 1825

(e) 1145

Q70. Find the total number of females visit R, Q and S together?
R, Q 3% S # THEATHT AT ATelt ATZATSAT it Foed HE&AT AT =l o702
(a) 5565

(b) 4775

(c) 4535

(d) 4825

(e) 4790

Q71. A milkman mixed (y+30) liters of water in 150 liters of milk and then again replaced 35 liters of the
mixture with milk. If quantity of milk in the final mixture is 160 liters, then find y'?

U g AT 150 e g2 § (y+30) =fiex qieti fFrerar g s {6 35 ey M= &1 39 ¥ 93« <ar1 g1 I
sifaw orsror & g Y AT 160 <ffeT g, av 'y ST shrfor?

(a) 45 liters \ 45 #1eX

(b) 40 liters \ 40 #f1ex

(c) 35 liters \ 35 &fex

(d) 30 liters \ 30 #fTex

(e) 25 liters \ 25 &1eX

Q72. Speed of fan is successively reduced by 10% and 15%, and if speed of fan is successively reduced by
20% and Z% so that overall change of speed is same as previous change then, find Z’?

o FT AT T FHE: 10% 3T 15% i FHT FT ATAT 2, 3 AT 98 7 T | FHi0E &7 T 20% 37T Z% 1 FH
HT ST &, AR T 7 FHY Taad Ogel IREd & TG99 g1, a7 'Z' J1d Hior0?

(a) 4.275%

(b) 4.375%

(c) 3.375%

(d) 3.275%

(e) 4.625%
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Q73. Cost price of an article is Rs.100 and discount given on the article is Rs.4 more than the profit
earned on it. If ratio of selling price to marked price of the article is 41 : 50 then find the discount offered?
U T AT 77 JoF 100 F, § & 6 T2 & 5 e 39 UL Aord AT T 4 %, J7dF g1 T a&q - (omd o7 &
SiTohd o & STAT 41:50 § AT & ST ATAT G2 AT i rora?

(a)Rs.31.5\ 31.5=.

(b) Rs. 30\ 30 =.

(c)Rs.36\ 36 =.

(d)Rs. 25\ 25 =.

(e) Rs. 27\ 27 =.

Q74. a, b, c and d are four consecutive numbers, if the sum of ‘a’ and ‘c’ is 124, what is the product of ‘b’
and ‘d’?

a, b, ¢ 3T d I FANT HEATU &, T 'a’ i 'c' T AT 124 €, A7 'b' 3T 'd' 7 UAES T 872

(a) 4032

(b) 3782

(c) 3906

(d) 3904

(e) 3968

Q75. The height of a triangle is equal to the perimeter of a square whose diagonal is 9v2 metre and the
base of the same triangle is equal to the side of the another Square whose area is 784 m?. What is the area
of the triangle? (in m?)

us Bt i FATE UF A F aRAT F awrew g S fFw 9v(2) Wiew § i sHY Bt #T srem g@w A
FT ST % IET ¢ ST 56 784 31 Hiex | st &7 er=re 47 87 (Hiex 2 #)

(a) 504

(b) 558

(c) 478

(d) 522

(e) 496

Directions (76-80): Given bar graph shows the number of patients who have visited to a hospital on
three different days and number of patients who were referred to higher hospital. Read the data carefully
and answer the following questions.

T 2 9 aTE 9 -t R T § SeuaTer § S AT LA T AT ST 37 sredard § Y U aw
TR T " FT IATAT g1 TS AT &7 | 9L e e we % 39w )

600

500

400

300

200

100

Monday Tuesday Wednesday

| Mo. of Patients Visited mMo. of patients referred
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Q76. How many patients were not referred on all 3 days together?

adT 3 faet & ey fohar T &1 TR Jg! T
() 450
(b) 600
(¢) 550
(d) 650
(e) 580

Q77. By what percent, no. of patients who were referred on Monday is more than those on Wednesday?

HIHATT Tl THT o017 T AT 07 HEAT AT o0l JAdT | o % AT 872
(a) 55%
(b) 60%
(c) 40%
(d) 50%
() 45%

Q78. What is the ratio of no. of patients who visited on Tuesday to the number of patients who were not
referred on Wednesday?

FATAATT T 3T ATl URAT %01 TEAT FT, FEATT Dl Al LHT (o017 T IRIAT 20T HAT F STATT a7 &2
(a)8:5

b)2:1

(c)1:2

(d)5:8

(e)3:1

Q79. If on Friday 20% more patients than on Monday visited to the hospital and 80% of total patients
were not referred on Friday, thenywhat isthe difference between no. of patients who were referred on
Tuesday and Friday?

T3 AT T FHATE 0l qadT § 20% STTersh TEILSAETATA 30 3T T ARET # 7 80% Fl LHATT il THY
Tl oA ST, T AL ST SERaATS &l T [0 ST HETSTT o0 |7 & 7ed fohae $iaw 872

(a) 120
(b) 110
(c) 125
(d) 115
(e) 130
TEST SERIES
Q80. On which days, percentage of patients who were referred out of FR:3{B{ [c]F/1E
who visited on that day is maximum? VIDEO SOLUTIONS
e foe T o s it ot afdera ST fa s arer At § &
Sfershan 82
(a) Wednesday \ 491X IBPS PO 2022
(b) Monday \ #FATE PRELIMS + MAINS

(c) Tuesday \ HITaTX
(d) Monday & Tuesday \ HTHATT 3T BT
(e) Monday & Wednesday \ HIHATT 3T ECEIRS 90+ Total Tests | eBooks
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